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CERTIFICATE IN COMPUTER APPLICATIONS

Time : 2 Hours ]

Note :

1  Expand the following :

(a)
(b)
(c)
(d)
(e)
()
(2)
(h)
()
()

2 Fill in the blanks

(a)

(Basic Computing Skills)
(Theory)
(711)

[ Maximum Marks : 40

All questions are compulsory and carry marks as indicated against each

question.

WWWwW
MAN
WORM
ASCII
COBOL
GUI
LAN
NCP
DSL
EPROM

%x10=5

: (write your answer in the answer - book) 1x10=10

MB is equal to 1024 KB.

(b) Shortcut key for copying anything is

(c) BASIC is a

level language.

(d) In Assembly language the machine codes comprising of 1°s and 0’s are

substituted by
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() —— provides the space for deleted files from folders or desktop.

() ——— is a Non volatile memory.

(g) Recycle Bin stores all the —_________ files.

(h) The —____ command in DOS list files one page at a time.

(i) In_—_____ network topology all workstations are connected to a single

communication line called bus.

() ——is a network of networks.

3 Write True (T) or False (F) for the following statements : %XIO =5

(a) Bar charts are used to compare the trends over a period.

(b) Mouse is an Input Device.

(c) BCD equivalent of Digit 6 is 0110.

(d) Mail merge is used for presentation of the document.

(e) UNIX is a multi user operating system.

(f) Windows provides a quick and easy way to install new software.
(g) Slide View is the default view when you open a power point.
(h) Ctrl + I is the keyboard shortcut for making text Bold.

(i) Laser printer produce high quality print.

() Computer understands the Machine Language.

4  Define the following briefly : l%x 5=71
(a) Half Duplex Data Transmission
(b) Dial up connection
(c) Teleconferencing
(d) Components of E-mail address

(e) Gateway Access
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5  Differentiate between the following : Z%X 3=7 %
(a) Internet and Intranet
(b) Save and Save As

(c) Copy and Cut

6  Answer the following : 2% x2=15

(a) Explain the steps to Find all the words “Coordinators” and replace with

“Supervisor” in a document.

(b) Name the 3 types of Documents created while Mail Merge. Explain any

two.
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